
EJERCICIOS 
 
1) Hallar la función derivada: 

 

𝑓ଵ(𝑥) =
𝑥ଷ + 1

3
 𝑓ଵଵ(𝑥) =

−2

𝑥ଷ
+

5

𝑥ଶ
− 5𝑥 

𝑓ଶ(𝑥) =
1

4𝑥ଶ
 𝑓ଵଶ(𝑥) = ඥ𝑥ଷ +

1

√𝑥ହ
 

𝑓ଷ(𝑥) =
𝑥 + 1

𝑥 − 1
 𝑓ଵଷ(𝑥) =

3𝑥ସ − 16

𝑥ଶ + 4𝑥
 

𝑓ସ(𝑥) = (5𝑥ଶ − 3)(𝑥ଶ − 𝑥 + 3) 𝑓ଵସ(𝑥) =
√𝑥

𝑥 + 1
 

𝑓ହ(𝑥) =
6

𝑥଺
 𝑓ଵହ(𝑥) = 𝑥ହln (𝑥) 

𝑓଺(𝑥) =
3

𝑥ଷ
+

4

𝑥ଶ
 𝑓ଵ଺(𝑥) =

𝑐𝑜𝑠𝑥

5
 

𝑓଻(𝑥) =
2

√𝑥
 𝑓ଵ଻(𝑥) =

𝑠𝑒𝑛𝑥 + 18

2𝑥 + 1
 

𝑓 (𝑥) = 𝑥√𝑥 𝑓ଵ଼(𝑥) =
6𝑒௫

𝑥
 

𝑓ଽ(𝑥) = √𝑥
య

+ 2√𝑥 𝑓ଵଽ(𝑥) =
2𝑒௫ − 3𝑥ସ

𝑙𝑛𝑥
 

𝑓ଵ଴(𝑥) =
𝑥ଷ + 𝑥 + 3

2
 𝑓ଶ଴(𝑥) = (𝑙𝑛𝑥 − 3𝑒௫)(𝑠𝑒𝑛𝑥 + 𝑐𝑜𝑠𝑥) 

 


